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5.2a Operations with Radicals

* To multiply and divide radicals we must remember the following properties:
(o Yo=Nob| | Ya _ (
\

Note: the indexes MUST always be *‘Q\Q, SAME xS

ex.a) (2V3)(5V5) b) (2V7)(4\75) /ér)ofi‘lg $>
=2:5.{35 —(zﬁ)(u(’ )
lb\(\? = wE o
c) (7%3)(5%5 6v3) d) (812 - 5)(4 - 32)
>~

=355 -y =322-2 meo +15(2
= 2515 - 42 () )

B U2 -LR
= 3515 - 26
= N _
e) 992w(/8w" - 3) Nate = 4 3[6
_'_' 233 2 J’;‘

= 3w - 2342w
=933 - 2132w =22
=q (Zw\}\\”f —2733fw

= 19wz - T

homefun: pg. 289 #1-7




